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1. XA X Sl A=l
2021 AL A
T2 ofl L4 x| A EHR| e toe™
127] 227 327 4827| A 1=27] 227 327 427| A
Ag ki 25 10 10 13 58 23 9 12 52
olz Eo ki 5 0 0 4 9 5 0 0 4 8
= ma2g ton 28 20 17 24 88 33 24 20 29 106
27 toe - - - - - 61 32 29 44 167
My ES Pk MWh 3,202 3,015 2873 2981 12,071 733 690 658 683 2,764
A toe - - - - - 794 723 687 727 2,931
2022EE AFREE A3
T= ojAX|& | Tt e toe™
127 2&7| 3&27| 427| A 127 2&7| 3&27| 427| A
49 ki 12 12 12 12 48 1 1 11 1 43
oiz Eo ki 5 0 0 4 9 4 0 0 4 8
= ma2n ton 36 36 36 36 144 43 43 43 43 173
27 toe - - - - - 59 54 54 58 225
My e MWh 3,300/ 3,300| 3,300| 3,300 13,200 756 756 756 756 3,023
A toe - - - - - 814 810 810 813 3,247

Z) toe(tonnage of oil equivalent)2t "0l X| & Al H15ZHM120f M2t M35 SH2ZE 2o CHe|E ZEHL|CH
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x4 ol o7} ™72k & Z+oH = XH| (A &) EX2t=E
o > O 2o o . = Tl
P27 omag | °0 % | duRe P 2
M| Dok | toe | (HE) | X | Au [ | |
GlO|E{ 7} Qi L Ch
) EXILE AHO| siEsts £7(0] HL CHOHa e 1dX|of siEsts A7t BAYS ML ch




3. 52 X AFRAH|x) B
1) 2AIE
2021 = OHXIME e
o = o
2H 3 oA 2 | o9 | U= ofLx| 2 AL ol RE%)| 8%
S| 29eke] | toe |
AlLES .
Ak 2z 7|EpR 30 6 sHiS® 93 8 2015 Litre
e 2,414MWh
e 240 kW 9 - ’ >>31 2010 70| Mg
e 2,414MWh 553
ZadMh| 200| ton/h 22 = 2010 70 A
PSS
Holug | ma | sz 250| 4 agme 4328;;1’!: 1182 2010 70| wug
P 2
=24l 11 7|E} 30 = 1,000MWh 229 2010 70| Mg
e 200MWh 4
sz T 50 = 00 ®l 2010 70|
—’F—1) - 7|Afﬂ**t'|°| 42 i 2|2l HHX|IAEZ0| & O HXALE 2| 5% O] Ql AH|2H &Lt
) 2R, (), 2(@)= H._':AI HELCH
2) O|SAIY
20219 = O HX|AHE 2 Qo)
. =
AdH 3 A 8% | o9 | U= oUx| 9 A8 o A 2=
IREHR | toe
5 5kl
=S 25| ton 1| 8" 83 81 2011 5| s=e
10kl
350[AL-5E0[5H 33| ton 1 s o 2015 5| sizg
21kl 19
=5 8E0[At-10=0|2t 8| ton 1 aR 2020 5| s128
2]
320[AL-5E0(Gt 35| ton 1 ar 10 | 2014 5| si2g
° 5k
1EX1k~320(2t 2.5 ton 1 3% 85 8 2011 5| s=g
Azt T FHH2|(Hkm) 0 Azt & Sl 0
* I FEAAC =1 S FAAZ <O Azt T XX Z(ton) 0
) AKX A
ofqxe | Mueret | gz | =9l | oix | 4xgE | &8%) | 8
ol O E{ 7t §i& LICt.
) AIXH- of LA X| 2 H WA ST 7| T SHA| 7| HEZFL|CH (AR YOl A X M HH| = 4. ‘2T |0 7|XY)
ESS(OIlH R M ZEA]) 2H]
Mg PCS(QIH H) x|
o = [
A | 82kwh 22k kW) | EEINET,

GO E{ 7} Gl LICh.




4. YHEAH|
L= ak
EXNPSE 20219 = OfHAIAEE MK
HF X HFAL L2kkW) cELo Ar22F =
e | toe
o0l Ei7F @i LT,
5. 52 4 - TS WYL
H 2 = (kw) Z|CH & SHkw) 22FkVA) o= HA AR
3,500 2,120 950 1 2013
3,500 2,120 600 1 2019
3,500 2,120 400 1 2018
3,500 2,120 1,200 1 2013
3,500 2,120 1,500 1 2013
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= Sl(a 2
7. HEE o XA AA U A= GHE AFEE ML O
M= 2021 st 20224 A=
N=Z ME | o AR spra Gz | 7| | A | dZH| | H| staret = | 7|
H = (toe) Mhw) | (2ER) [ (RERHR) | (H2HR) (toe) Mhw)
EVS
- wagel
7 [EFRISAIEE P PCS |15,000,000(11,694,726] 0.000| 0.000| 52,281 13,000,000  0.000|  0.000
UQ7IEt




